ON THE UNIQUENESS OF THE SOLUTION
OF SOME POLYNOMIAL EQUATIONS

FRANCK BEAUCOUP AND TAMAS ERDELYI

Problem. Let n > 1 be an integer. Let k; > 1 for each j = 1,2,... ,n. Show that the
equation

n

H(l—a:kj): 1—=x.

j=1

has exactly one solution in the interval (0,1).

Proposed solution.

MiTEL, 350 LEGGET DRIVE, OTTAWA, ONTARIO K2K 2W7, CANADA (FRANCK BEAUCOUP)
E-mail address: franck_beaucoup@mitel.com (F. Beaucoup)

DEPARTMENT OF MATHEMATICS, TEXAS A&M UNIVERSITY, COLLEGE STATION, TEXAS 77843, USA
(TaMAs ERDELYI)
E-mail address: terdelyi@math.tamu.edu (T. Erdélyi)

Typeset by ApS-TEX



